
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

JD 30/60-7000 HC Side Plate R10-1509R11

JD 30/60 Undertruss10-120312

JD30/60-7000 HC Side Plate L10-1509L13

1

1

2

2

A A

B B

Side Mount Conv.

John Deere

7600,7610,7700,

7710,7800,7810

Bolt List

QTY Description

Placement

14

3/4 x 2 1/2 Bolt

Side Plate to Tractor

24

3/4 x 2 1/2 Bolt

Undertruss to Tractor side Plates

6 20mm x 60mm x 10.9 Bolt Side Plate to Tractor

38

3/4 Lockwashers

38

3/4 Nuts

6 20mm Hardened Flatwashers

Front

3

2

1

Price List
$1815.00

Limitations may apply.  
Please consult API Sales at 

800-288-1117.

CONV ID:  JD-7000-9203-SMS-CONV


